

,  
,

$$f_0 = 0, f_1 = 1$$

$$f_{n+1} = f_n + f_{n-1}, \quad n \geq 1. \quad (1)$$

$$l_0 = 2, l_1 = 1$$

$$l_{n+1} = l_n + l_{n-1}, \quad n \geq 1. \quad (2)$$

...,  
[4]  
: 1, 1, 2, 3, 5, 8, 13, 21,  
: 2, 1, 3, 4, 7, 11, 18, 29, 47, 76, ....

$$f_n = \frac{1}{\sqrt{5}} \left[ \left( \frac{1+\sqrt{5}}{2} \right)^n - \left( \frac{1-\sqrt{5}}{2} \right)^n \right], \quad n \geq 0 \quad (3)$$

$$l_n = \left( \frac{1+\sqrt{5}}{2} \right)^n + \left( \frac{1-\sqrt{5}}{2} \right)^n, \quad n \geq 0 \quad (4)$$

1.  $n \geq 3$

$$f_{2n-5} = 3f_{2n-3} - f_{2n-1}. \quad (5)$$

(1),  $m \geq 2$

$$\begin{aligned} f_{m+2} + f_{m-2} &= (f_m + f_{m+1}) + f_{m-2} \\ &= f_m + (f_{m-1} + f_m) + f_{m-2} \\ &= 2f_m + (f_{m-1} + f_{m-2}) \\ &= 3f_m. \end{aligned} \quad (6)$$

(6)  $m = 2n - 3,$   $f_{2n-1} + f_{2n-5} = 3f_{2n-3},$

(3).  
(5)  $(3).$

2.  $\{a_n\}$   $a_0 = a_1 = 1$

$$a_{n+1} = 7a_n - a_{n-1} - 2, \quad n \geq 1. \quad (7)$$

$a_n$   $n \in \mathbb{N}_0.$

$$\begin{aligned}
 a_1 &= 1 = 1^2 = f_1^2, \\
 a_2 &= 7 \cdot 1 - 1 - 2 = 2^2 = f_3^2, \\
 a_3 &= 7 \cdot 4 - 1 - 2 = 5^2 = f_5^2, \\
 a_4 &= 7 \cdot 25 - 4 - 2 = 13^2 = f_7^2,
 \end{aligned}$$

$$(8) \quad a_n = f_{2n-1}^2, \quad n \in \mathbb{N}_0. \tag{8}$$

$$(8) \quad n = 1, 2, 3, 4. \tag{8}$$

$$n. \tag{7}$$

$$\begin{aligned}
 a_{n+1} &= 7a_n - a_{n-1} - 2, \\
 a_n &= 7a_{n-1} - a_{n-2} - 2.
 \end{aligned}$$

$$a_{n+1} = 8a_n - 8a_{n-1} + a_{n-2},$$

$$\begin{aligned}
 a_{n+1} &= 8f_{2n-1}^2 - 8f_{2n-3}^2 + f_{2n-5}^2, \\
 a_{n+1} &= 8f_{2n-1}^2 - 8f_{2n-3}^2 + (3f_{2n-3} - f_{2n-1})^2 \\
 a_{n+1} &= 9f_{2n-1}^2 - 6f_{2n-3}f_{2n-1} + f_{2n-3}^2 \\
 a_{n+1} &= (3f_{2n-1} - f_{2n-3})^2 \\
 a_{n+1} &= f_{2n+1}^2.
 \end{aligned}$$

$$(8) \quad n+1, \tag{8}$$

$$a_{n+1} - 7a_n + a_{n-1} = -2 \tag{9}$$

$$a_{n+1} - 7a_n + a_{n-1} = 0. \tag{10}$$

$$(10) \quad r^2 - 7r + 1 = 0$$

$$r_{1,2} = \frac{7 \pm 3\sqrt{5}}{2},$$

$$(10)$$

$$A\left(\frac{7+3\sqrt{5}}{2}\right)^n + B\left(\frac{7-3\sqrt{5}}{2}\right)^n = A\left(\frac{3+\sqrt{5}}{2}\right)^{2n} + B\left(\frac{3-\sqrt{5}}{2}\right)^{2n}. \tag{9}$$

$$x_n = A_0.$$

$$(9) \quad A_0 - 7A_0 + A_0 = -2, \quad A_0 = \frac{2}{5}.$$

$$(5)$$

$$a_n = A\left(\frac{3+\sqrt{5}}{2}\right)^{2n} + B\left(\frac{3-\sqrt{5}}{2}\right)^{2n} + \frac{2}{5},$$

$$a_0 = a_1 = 1,$$

$$A + B = \frac{3}{5}, \frac{7+3\sqrt{5}}{2}A + \frac{7-3\sqrt{5}}{2}B = \frac{3}{5},$$

$$A = \frac{3-\sqrt{5}}{10}, B = \frac{3+\sqrt{5}}{10}.$$

$$\begin{aligned} a_n &= \frac{3-\sqrt{5}}{10}\left(\frac{7+3\sqrt{5}}{2}\right)^n + \frac{3+\sqrt{5}}{10}\left(\frac{7-3\sqrt{5}}{2}\right)^n + \frac{2}{5} \\ &= \frac{1}{5}\left(\frac{3-\sqrt{5}}{2}\left(\frac{14+6\sqrt{5}}{4}\right)^n + \frac{3+\sqrt{5}}{2}\left(\frac{14-6\sqrt{5}}{4}\right)^n + 2\right) \\ &= \frac{1}{5}\left(\frac{3-\sqrt{5}}{2}\left(\frac{3+\sqrt{5}}{2}\right)^{2n} + \frac{3+\sqrt{5}}{2}\left(\frac{3-\sqrt{5}}{2}\right)^{2n} + 2\right) \\ &= \frac{1}{5}\left(\left(\frac{3+\sqrt{5}}{2}\right)^{2n-1} + \left(\frac{3-\sqrt{5}}{2}\right)^{2n-1} + 2\right) \\ &= \left(\frac{1}{\sqrt{5}}\left[\left(\frac{1+\sqrt{5}}{2}\right)^{2n-1} - \left(\frac{1-\sqrt{5}}{2}\right)^{2n-1}\right]\right)^2 \\ &= f_{2n-1}^2, \end{aligned}$$

$$\dots a_n \quad n \in \mathbb{N}_0.$$

$$A(x) = \sum_{k=0}^{\infty} a_k x^k \quad \{a_n\}_{n=0}^{\infty}.$$

$$a_0 = a_1 = 1$$

$$\frac{A(x)-1}{x} = a_1 + a_2x + a_3x^2 + \dots + a_{n+1}x^n + \dots$$

$$\frac{A(x)-1-x}{x^2} = a_2 + a_3x + a_4x^2 + \dots + a_{n+2}x^n + \dots$$

$$a_{n+2} = 7a_{n+1} - a_n - 2, \quad n \geq 0$$

$$2 + 2x + 2x^2 + \dots + 2x^n + \dots = \frac{2}{1-x},$$

$$\frac{A(x)-1-x}{x^2} = 7\frac{A(x)-1}{x} - A(x) - \frac{2}{1-x},$$

$$A(x) = \frac{4x^2-7x+1}{(1-x)(x^2-7x+1)} = \frac{4x^2-7x+1}{(1-x)\left(x-\frac{7+3\sqrt{5}}{2}\right)\left(x-\frac{7-3\sqrt{5}}{2}\right)} = \frac{M}{1-x} + \frac{N}{x-\frac{7+3\sqrt{5}}{2}} + \frac{P}{x-\frac{7-3\sqrt{5}}{2}}.$$

$$M, N, P,$$

$$a_n \quad x^n \quad ( \quad [4]),$$

$$a_n = f_{2n-1}^2.$$

### 3.

$$s_n = (\operatorname{tg} 9^\circ + \operatorname{tg} 81^\circ)^n + (\operatorname{tg} 117^\circ + \operatorname{tg} 153^\circ)^n, \quad n \in \mathbb{N}.$$

$$s_n = 4^n l_n, \quad n \in \mathbb{N}, \quad \{l_n\}_{n=1}^{\infty}$$

$$\begin{aligned} \operatorname{tg}(45^\circ + x) + \operatorname{tg}(45^\circ - x) &= \frac{\sin(45^\circ + x)}{\cos(45^\circ + x)} + \frac{\sin(45^\circ - x)}{\cos(45^\circ - x)} \\ &= \frac{\sin(45^\circ + x)\cos(45^\circ - x) + \cos(45^\circ + x)\sin(45^\circ - x)}{\cos(45^\circ + x)\cos(45^\circ - x)} \\ &= \frac{\sin(45^\circ + x + 45^\circ - x)}{(\cos 45^\circ \cos x - \sin 45^\circ \sin x)(\cos 45^\circ \cos x + \sin 45^\circ \sin x)} \\ &= \frac{\sin 90^\circ}{\frac{\sqrt{2}}{2}(\cos x - \sin x)\frac{\sqrt{2}}{2}(\cos x + \sin x)} = \frac{2}{\cos^2 x - \sin^2 x} = \frac{2}{\cos 2x} \end{aligned}$$

$$\operatorname{tg}(45^\circ + x) + \operatorname{tg}(45^\circ - x) = \frac{2}{\cos 2x}. \quad (11)$$

$$a = \operatorname{tg} 117^\circ = \operatorname{tg}(45^\circ + 72^\circ),$$

$$b = \operatorname{tg} 153^\circ = \operatorname{tg}(-27^\circ) = \operatorname{tg}(45^\circ - 72^\circ),$$

$$c = \operatorname{tg} 9^\circ = \operatorname{tg} 189^\circ = \operatorname{tg}(45^\circ + 144^\circ),$$

$$d = \operatorname{tg} 81^\circ = \operatorname{tg}(-99^\circ) = \operatorname{tg}(45^\circ - 144^\circ).$$

$$\cos 36^\circ = \frac{\sqrt{5}+1}{4}, \quad \cos 72^\circ = \frac{\sqrt{5}-1}{4}, \quad (11)$$

$$a + b = \operatorname{tg}(45^\circ + 72^\circ) + \operatorname{tg}(45^\circ - 72^\circ) = \frac{2}{\cos 144^\circ} = \frac{-2}{\cos 36^\circ} = \frac{-2}{\frac{\sqrt{5}+1}{4}} = 2 - 2\sqrt{5},$$

$$c + d = \operatorname{tg}(45^\circ + 144^\circ) + \operatorname{tg}(45^\circ - 144^\circ) = \frac{2}{\cos 288^\circ} = \frac{2}{\cos 72^\circ} = \frac{2}{\frac{\sqrt{5}-1}{4}} = 2 + 2\sqrt{5}.$$

(4)

$$\begin{aligned} s_n &= (\operatorname{tg} 9^\circ + \operatorname{tg} 81^\circ)^n + (\operatorname{tg} 117^\circ + \operatorname{tg} 153^\circ)^n \\ &= (c + d)^n + (a + b)^n \\ &= (2 + 2\sqrt{5})^n + (2 - 2\sqrt{5})^n \\ &= 4^n \left[ \left(\frac{1+\sqrt{5}}{2}\right)^n + \left(\frac{1-\sqrt{5}}{2}\right)^n \right] \\ &= 4^n l_n, \end{aligned}$$

4.

3

 $n \in \mathbb{N}_0$ 

$$i) \quad u_n = 1 + a^n + b^n + c^n + d^n = 5D, \quad D \in \mathbb{Z},$$

$$ii) \quad v_n = c^n + d^n - a^n - b^n = \sqrt{5}K, \quad K \in \mathbb{Z}.$$

$$\begin{aligned}
 & \cdot, u_0 = 5, & & 3 \\
 & u_1 = 1 + a + b + c + d = 1 + 2 - 2\sqrt{5} + 2 + 2\sqrt{5} = 5, \\
 & i) \quad n = 0 \quad n = 1. \quad, \quad n = 0 \\
 v_0 = 0 = \sqrt{5} \cdot 0, & & & 3 \quad n = 1 \\
 & v_1 = c + d - a - b = 2 + 2\sqrt{5} - 2 + 2\sqrt{5} = 4\sqrt{5}, \\
 & ii) \quad n = 0 \quad n = 1. \\
 & , \quad \quad \quad \text{tg}(45^\circ + x) = \text{ctg}(45^\circ - x), \\
 & \quad \quad \quad ab = cd = 1. \quad (12) \\
 & i) \quad ii)
 \end{aligned}$$

$n, \dots$

$$u_n = 1 + a^n + b^n + c^n + d^n = 5D', \quad D' \in \mathbb{Z},$$

$$u_{n-1} = 1 + a^{n-1} + b^{n-1} + c^{n-1} + d^{n-1} = 5D'', \quad D'' \in \mathbb{Z},$$

$$v_n = c^n + d^n - a^n - b^n = \sqrt{5}K', \quad K' \in \mathbb{Z},$$

$$v_{n-1} = c^{n-1} + d^{n-1} - a^{n-1} - b^{n-1} = \sqrt{5}K'', \quad K'' \in \mathbb{Z}.$$

$$\cdot, \quad (12), \quad 3$$

$$u_{n+1} = 1 + a^{n+1} + b^{n+1} + c^{n+1} + d^{n+1}$$

$$\begin{aligned}
 &= 1 + a^{n+1} + a^n b + b^{n+1} + b^n a + c^{n+1} + c^n d + d^{n+1} + d^n c - (a^n b + b^n a + c^n d + d^n c) \\
 &= 1 + a^n(a+b) + b^n(a+b) + c^n(c+d) + d^n(c+d) - ab(a^{n-1} + b^{n-1}) - cd(c^{n-1} + d^{n-1}) \\
 &= 2 + (2 - 2\sqrt{5})(a^n + b^n) + (2 + 2\sqrt{5})(c^n + d^n) - (1 + a^{n-1} + b^{n-1} + c^{n-1} + d^{n-1}) \\
 &= 2(1 + a^n + b^n + c^n + d^n) - (1 + a^{n-1} + b^{n-1} + c^{n-1} + d^{n-1}) + 2\sqrt{5}(c^n + d^n - a^n - b^n) \\
 &= 10D' - 5D'' + 2\sqrt{5} \cdot \sqrt{5}K' = 5(2D' - D'' + 2K'),
 \end{aligned}$$

$$\begin{aligned}
 v_{n+1} &= c^{n+1} + d^{n+1} - a^{n+1} - b^{n+1} = c^{n+1} + c^n d + d^{n+1} + d^n c - a^{n+1} - a^n b - b^{n+1} - b^n a - \\
 &\quad - c^n d - d^n c + a^n b + b^n a \\
 &= c^n(c+d) + d^n(c+d) - a^n(a+b) - b^n(a+b) - \\
 &\quad - cd(c^{n-1} + d^{n-1}) + ab(a^{n-1} + b^{n-1}) \\
 &= (2 + \sqrt{5})(c^n + d^n) - (2 - \sqrt{5})(a^n + b^n) \\
 &\quad - (c^{n-1} + d^{n-1} - a^{n-1} - b^{n-1}) \\
 &= 2(c^n + d^n - a^n - b^n) + \sqrt{5}(c^{n-1} + d^{n-1} + a^{n-1} + b^{n-1}) \\
 &\quad - (c^{n-1} + d^{n-1} - a^{n-1} - b^{n-1}) \\
 &= 2\sqrt{5}K' + \sqrt{5}(5D'' - 1) - \sqrt{5}K'' \\
 &= \sqrt{5}(2K' + 5D'' - 1 - K''),
 \end{aligned}$$

i) ii)  $n+1.$  ,  
 i) ii)  $n \in \mathbb{N}_0.$

$n \in \mathbb{N}_0$

$$u_n = \operatorname{tg}^n 9^\circ + \operatorname{tg}^n 45^\circ + \operatorname{tg}^n 81^\circ + \operatorname{tg}^n 117^\circ + \operatorname{tg}^n 153^\circ$$

$$5 \mid u_n, \quad n \in \mathbb{N}_0.$$

1. , ,, ,  $\therefore$  , , 2023
2. , ,, ,  $\therefore$  , , 2021
3. , ,, ,  $\therefore$  , , 2021
4. ,  $\therefore$  , ( , , - ), , 2023